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1. W7 378

Why doesn't the man lend the woman a dictionary?

A. He has no dictionary at hand. B. He has lent the dictionary to his brother. C.He is using

his dictionary at the moment.

2. Wt 71/
What's the probable relationship between the two speakers?
A. Fellow students. B. Company colleagues. C. Driver and passenger.

3. r J1 8
Why does the man prefer the flat?
A. It's much cheaper. B. It saves much labor. Ct's more comfortable.

4. Wr 73 %
Where does the conversation take place?
A. In a library. B. In a shop. Cydn ahospital.

5. Wy 178
When will the two speakers meet?
A. At 9:30. B. At 9:00: C. At 8:30:
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6. Wt J1 78
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(6) Who' isamaking the call?

A.[Theicar/driver. B’ A passer-by. C. The bus driver.
(7)/What can we know about the accident?
A. The police will soon get to the spot. B. No one has got injured in the accident. C.

An ambulance will arrive in 5 minutes.

7. Wt 1178
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(8) Why does the woman ask the man some questions?

A. To prepare a report. B. To offer a job. C. To conduct a test.

(9) Where does the man come from?

A. Britain. B. Australia. C. Russia.

(10) What can be learned from the conversation?

A. The man has applied for a new position. B. The man is learning about management. C.

The man is a professional HR manager.



